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<p>HEFAFHEREN: </p>

<p>public class ListNode {</p>

<p>intval;</p>

<p>ListNode next;</p>

<p>ListNode(int x) { val = x; }</p>

<p>}</p>

<p>EFHHG: <br>

public class Solution {</p>

<p>public ListNode mergeTwolists(ListNode I1, ListNodel2) {</p>
<p><strong>if</strong>(I1 == <strong>null</strong>){</p>
<p>System.<em>out</em>.printIn("l1 == null");</p>
<p><strong>return</strong> 12;</p>

<p>}</p>

<p><strong>if</strong>(12 == <strong>null</strong>){</p>
<p>System.<em>out</em>.printIn("I2 == null");</p>
<p><strong>return</strong> I1;</p>

<p>}</p>

<p>ListNode node = I1;</p>

<p>ListNode node1l = 12;</p>

<p>ListNode mergeHead = <strong>null</strong>;</p>
<p><strong>if</strong>(node.val &lt; node1.val){</p>
<p>mergeHead = node;</p>

<p>mergeHead.next = mergeTwolLists(node.next,node1);</p>
<p>}<strong>else</strong>{</p>

<p>mergeHead = node1l;</p>

<p>mergeHead.next = mergeTwolists(node,nodel.next);</p>
<p>}</p>

<p><strong>return</strong> mergeHead;</p>

<p>}</p>

<p>}</p>

RSGEE: WMER (7)) NBREEREHE—, FRREHEIEREEFF


https://ld246.com/article/1484645232083

